escolas
P * escola VARCHAR?2 (4)
* nomeEscola VARCHAR?2 (70)
F * distrito VARCHAR?2 (2)

F * concelho VARCHAR?2 (2)

= escolas_PK (escola)

'33 FK_ASS 5 (distrito, concelho)

5
I
A

distritos

P * distrito
* descrDistrito

VARCHAR? (2)
VARCHAR?2 (20)

= distritos_PK (distrito)

concelhos

VARCHAR?2 (2)
VARCHAR?2 (2)
VARCHAR? (30)

PF* distrito
P * concelho
* descrConcelho

== concelhos_PK (distrito, concelho)

=2 FK_ASS_1 (distrito)

*

A

candidatos

estabelecimentosSup

P * estab
I

F distrito

* nomeEstab

VARCHAR?2 (4)
VARCHAR? (255)
VARCHAR?2 (2)

= estabelecimentosSup_PK (estab)

"8 FK_ASS_2 (distrito)

candidaturas

PF* idCandidato NUMBER (11)

P * ordem NUMBER (1)

UF estab VARCHAR?2 (4)

UF curso VARCHAR?2 (4)
* notaCand FLOAT

ofertas

PF* estab
PF* curso
vagas

VARCHAR2 (4)
VARCHAR2 (4)
NUMBER (3)

= ofertas_PK (estab, curso)

Z= candidaturas_PK (idCandidato, ordem)

% INDEX_1 (idCandidato, estab, curso, ordem)

'EE FK_ASS_3 (estab)
Eﬁ FK_ASS_4 (curso)

8 FK_ASS_10 (idCandidato)

P * idCandidato

NUMBER (11)

* nome VARCHAR?2 (30)
* sexo CHAR (1)
F  distrito VARCHAR?2 (2)
F  concelho VARCHAR?2 (2)
F escola VARCHAR2 (4)
mediaSec NUMBER (3)
Z= candidatos_PK (idCandidato) <

'33 FK_ASS_11 (estab, curso)

+

A\

*
!
:
A

colocacoes

Eﬁ FK_ASS_6 (distrito, concelho)
'33 FK_ASS_7 (escola)

notasExames

PF* idCandidato
PF* exame
P * fase
P * ano
nota

NUMBER (11)
VARCHAR?2 (3)
NUMBER (1)
NUMBER (4)
NUMBER (3) |

exames

P * exame

z= notasExames_PK (idCandidato, exame, fase, ano)

8 FK_ASS_8 (idCandidato)
®3 FK_ASS_9 (exame)

VARCHAR?2 (3)

* nomeExame VARCHAR?2 (35)

= exames_PK (exame)

PF* idCandidato NUMBER (11)

F  estab VARCHAR?2 (4)
F  curso VARCHAR?2 (4)
F  conting VARCHAR?2 (1)

F * ordemCol NUMBER (1)

cursos

P * curso VARCHAR?2 (4)
* nomeCurso VARCHAR?2 (255)

* grau VARCHAR?2 (2)

&= cursos_PK (curso)

contingentes

>l - - >

== colocacoes_PK (idCandidato)

VARCHAR? (1)
VARCHAR?2 (10)

P * conting
* descrConting

% FK_ASS_12 (idCandidato)
=3 FK_ASS_13 (conting)
'33 FK_ASS_14 (estab, curso)

'33 FK_ASS 15 (idCandidato, estab, curso, ordemCol)

= contingentes_PK (conting)




